## Vinita Hornet Relays 4/1/2017

## **High School Girls**

4 X 100 Relay			
1st	MIAMI	52.13	
2nd	VINITA	52.76	
3rd	PAWHUSKA	53.41	
4th	WARNER	56.26	
5th	PRYOR	57.28	
6th	MOUNDS	59.15	
4 X 800 Relay			
1st	ADAIR	10:14.39	
2nd	VINITA	10:22.57	
3rd	WARNER	10:35.28	
4th	MOUNDS	11:12.31	
5th	PRYOR	11:30.94	
6th	WYANDOTTE	12:43	
100 Meter Hurdles			
1st	DEWEY	JONES	14.63
2nd	VINITA	HORTON	17.02
3rd	KETCHUM	FLANAGAN	17.15
4th	WARNER	GOODREAU	17.87
5th	VINITA	BENNETT	18.35
6th	PRYOR	REECE	18.44
222244			
3200 Meter Run			
1st	ADAIR	BAGBY	12:05.83
2nd	DEWEY	SEARS	13:15.34
3rd	MOUNDS	MYER	13:20.75
4th	WARNER	KILPATRICK	13:25.46
5th	DEWEY	ADAMS	13:33.44
6th	WARNER		13:43.62
4 X 200 Relay			
1st	MIAMI	1.50.88	
2nd	VINITA	1.51.71	
3rd	PAWHUSKA	1.53.88	
4th	PRYOR	1.56.90	
5th	ADAIR	1.57.90	
6th	WARNER	1.58.18	
otti	VV/ (((VL))	1.50.10	
800 Meter Run			
1st		BAGBY	2.31.33
	ADAIR	DAGDI	
2nd	ADAIR VINITA	GARRETT	2.34.09
2nd 3rd		_	
	VINITA	GARRETT	2.34.09
3rd	VINITA WARNER	GARRETT LAWSON	2.34.09 2.35.12
3rd 4th	VINITA WARNER WARNER	GARRETT LAWSON DUERISON	2.34.09 2.35.12 2.35.94

100 Meter Dash			
1st	DEWEY	JONES	12.45
2nd	MIAMI	HAILE	13.15
3rd	VINITA	SUTTON	13.25
4th	MIAMI	ISHMAEL	13.37
5th	MIAMI	LI	13.7
6th	VINITA	BENNETT	13.7
400 Meter Dash			
1st	MIAMI	BELL	63.01
2nd	ADAIR	LIPPE	63.71
3rd	WARNER	DUERSON	64.25
4th	PRYOR	HARRY	65.65
5th	VINITA	SUTTON	65.69
6th	VINITA	WALKER	67.5
300 Meter Hurdles			
1st	PAWHUSKA	RIEBELL	49.94
2nd	VINITA	HORTON	50.65
3rd	WARNER	GOODROW	53.06
4th	KETCHUM	FLANNIGAN	53.94
5th	SALINA	BUTCHER	55.44
6th	PRYOR	REECE	56.94
200 Meter Dash			
1st	MIAMI	BELL	26.15
2nd	DEWEY	JONES	26.22
3rd	PRYOR	RAINS	27.16
4th	VINITA	SHEPARD	27.10
5th	WARNER	SHORT	28.15
6th	MAIMI	HAILE	28.65
otti	IVIAIIVII	HAILE	20.03
1600 Meter Run			
1st	WARNER	LAWSON	6.00.53
2nd	DEWEY	SEARS	6.05.21
3rd	PRYOR	BRADSHAW	6.06.63
4th	VINITA	GARRETT	6.08.03
5th	VINITA	ALEXANDER	6.20.69
6th	VINITA	MOORMAN	6.23.69
4 X 400 Relay			
1st	VINITA	4.15.07	
2nd	ADAIR	4.19.40	
3rd	WARNER	4.12	
4th	PAWHUSKA	4.34.60	
5th	MOUNDS	4.35.81	
6th	PRYOR	4.52.21	

High Jump			
High Jump 1st	KETCHUM	FLANNAGAN	5'4"
2nd	VINITA	BENGE	5'4"
3rd	WARNER	HAMMONS	5'0"
4th	ADAIR	KRUSE	4'10"
-	WARNER	SHORT	4 10 4'10"
5th	WARINER	SHUKT	4 10
Shot			
1st	ADAIR	LIPPE	36'11"
2nd	WARNER	POTTS	31'.25"
3rd	PRYOR	MILLER	30'1.25"
4th	PAWHUSKA	HENLEY	29'1"
5th	PAWHUSKA	McGUIRE	28'4"
6th	MOUNDS	MALLETT	27'6.5"
Long Jump			
1st	DEWEY	JONES	17'3.5"
2nd	KETCHUM	FLANAGAN	16'3"
3rd	MIAMI	ISHMAEL	15'4"
4th	ADAIR	JOHNSON	15'2.5"
5th	VINITA	BENGE	15'1"
6th	SALINA	BUTCHER	14'7.5"
Diama			
Discus		==	4.001011
1st	PRYOR	MILLER	102'2"
2nd	WARNER	HERRIMAN	102'1"
3rd	ADAIR	BOOTH 99'7	
4th	ADAIR	COOPER	88'11"
5th	ADAIR	PARKER	81'5"
6th	PAWHUSKA	McGUIRE 72'4"	
Pole Vault			
1st	PAWHUSKA	MOOREHEAD	6'0"
Team Standings			
	1 VINITA	125	
	2 WARNER	98	
	3 ADAIR	98	
	4 MIAMI	83	
	5 PAWHUSKA	59	
	6 DEWEY	56	
	7 PRYOR	52	
	8 KETCHUM	28	
	9 MOUNDS	22	
1	.0 SALINA	3	
1	1 WYANDOTTE	2	

High School Boys			
4 X 100 Relay			
1st	PAWHUSKA	45.4	
2nd	DEWEY	45.78	
3rd	VINITA	45.85	
4th	NOAH	48.85	
5th	MOUNDS	51.97	
4 X 800 Relay			
1st	PRYOR	8:47.77	
2nd	PAWHUSKA	9:07.40	
3rd	WARNER	9:20.10	
4th	ADAIR	9:45.94	
5th	VINITA	10:21.53	
6th			
110 Meter Hurdles			
1st	VINITA	BABCOCK	17.46
2nd	CHELSEA	HORNTER	18.16
3rd	WARNER	BLANCHET	18.53
4th	DEWEY	KANINSKI	19.28
5th	PRYOR	CAVALIER	20.9
6th	PRYOR	RAINS	20.94
3200 Meter Run			
1st	DEWEY	BLACK	10:40.50
2nd	WARNER	BLAYLOCK	10:45.58
3rd	PAWHUSKA	TUCKER	11:25.40
4th	DEWEY	HALEY	11:47.84
5th	PRYOR	TROYER	11:58.06
6th	PRYOR		12:02.40
4 X 200 Relay			
1st	PAWHUSKA	1.36	
2nd	SALINA	1.36.64	
3rd	VINITA	1.36.91	
4th	DEWEY	1.38.84	
5th	WARNER	1.41.04	
6th	NOAH	1.44.35	
800 Meter Run			
1st	DEWEY	BLACK	2.03.90
2nd	MOUNDS	CRANE	2.03.30
3rd	PRYOR	DAVIS	2.10.69
5.4	PRIUM		
4th		_	
4th 5th	ADAIR	MALCOW	2.14.44
4th 5th 6th		_	

100 Meter Dash			
1st	PAWHUSKA	GRAVADES	10.76
2nd	PAWHUSKA	JEFFERS	10.84
3rd	VINITA	CHILDERS	11.12
4th	DEWEY	BLACKMAN	11.39
5th	PRYOR	JORDAN	11.41
6th	DEWEY	HAWKINS	11.75
<b>5</b>	522.		11.75
400 Meter Dash			
1st	DEWEY	BREWER	51.19
2nd	DEWEY	ROGERS	54.19
3rd	PAWHUSKA	RAMIREZ	55.97
4th	PAWHUSKA	STOME	56.13
5th	SALINA	LITTLEFIELD	57.02
6th	ADAIR	BOREN	57.25
300 Meter Hurdles			
1st	DEWEY	KAMINSKI	45.18
2nd	CHELSEA	HAMLER	45.66
3rd	WARNER	BLANCHET	45.77
4th	VINITA	BABCOCK	46.13
5th	VINITA	KEENE	47.19
6th	VINITA	DAVIS	48.06
200 Meter Dash			
1st	DEWEY	BREWER	22.93
2nd	DEWEY	ROGERS	23.27
3rd	PAWHUSKA	JEFFRIES	23.59
4th	PAWHUSKA	WILSON	24.16
5th		VVILSOIV	24.10
	KF1("H11M	\M/FRR	24 57
	KETCHUM SALINA	WEBB ROGERS	24.57 24.76
6th	SALINA	WEBB ROGERS	24.57 24.76
6th			
6th 1600 Meter Run	SALINA	ROGERS	24.76
6th 1600 Meter Run 1st	SALINA	ROGERS	<ul><li>24.76</li><li>4.58.07</li></ul>
6th  1600 Meter Run 1st 2nd	SALINA  DEWEY PAWHUSKA	ROGERS  BLACK TUCKER	24.76 4.58.07 5.05.03
6th  1600 Meter Run 1st 2nd 3rd	DEWEY PAWHUSKA WARNER	BLACK TUCKER VANDAILY	24.76 4.58.07 5.05.03 5.11.66
6th  1600 Meter Run 1st 2nd 3rd 4th	DEWEY PAWHUSKA WARNER PRYOR	ROGERS  BLACK TUCKER VANDAILY JARBOW	24.76 4.58.07 5.05.03 5.11.66 5.18.25
6th  1600 Meter Run 1st 2nd 3rd 4th 5th 6th	DEWEY PAWHUSKA WARNER PRYOR DEWEY	BLACK TUCKER VANDAILY JARBOW HAILEY	24.76 4.58.07 5.05.03 5.11.66 5.18.25 5.30.56
6th  1600 Meter Run 1st 2nd 3rd 4th 5th 6th  4 X 400 Relay	DEWEY PAWHUSKA WARNER PRYOR DEWEY PRYOR	BLACK TUCKER VANDAILY JARBOW HAILEY TROYER	24.76 4.58.07 5.05.03 5.11.66 5.18.25 5.30.56
6th  1600 Meter Run 1st 2nd 3rd 4th 5th 6th  4 X 400 Relay 1st	DEWEY PAWHUSKA WARNER PRYOR DEWEY PRYOR	ROGERS  BLACK TUCKER VANDAILY JARBOW HAILEY TROYER  3.35.59	24.76 4.58.07 5.05.03 5.11.66 5.18.25 5.30.56
6th  1600 Meter Run 1st 2nd 3rd 4th 5th 6th  4 X 400 Relay 1st 2nd	DEWEY PAWHUSKA WARNER PRYOR DEWEY PRYOR	ROGERS  BLACK TUCKER VANDAILY JARBOW HAILEY TROYER  3.35.59 3.37.76	24.76 4.58.07 5.05.03 5.11.66 5.18.25 5.30.56
6th  1600 Meter Run 1st 2nd 3rd 4th 5th 6th  4 X 400 Relay 1st 2nd 3rd	DEWEY PAWHUSKA WARNER PRYOR DEWEY PRYOR  DEWEY PRYOR	ROGERS  BLACK TUCKER VANDAILY JARBOW HAILEY TROYER  3.35.59 3.37.76 3.46.09	24.76 4.58.07 5.05.03 5.11.66 5.18.25 5.30.56
6th  1600 Meter Run 1st 2nd 3rd 4th 5th 6th  4 X 400 Relay 1st 2nd 3rd 4th	DEWEY PAWHUSKA WARNER PRYOR DEWEY PRYOR  DEWEY PRYOR  DEWEY PRYOR PAWHUSKA ADAIR	ROGERS  BLACK TUCKER VANDAILY JARBOW HAILEY TROYER  3.35.59 3.37.76 3.46.09 3.50.37	24.76 4.58.07 5.05.03 5.11.66 5.18.25 5.30.56
6th  1600 Meter Run 1st 2nd 3rd 4th 5th 6th  4 X 400 Relay 1st 2nd 3rd 4th 5th 6th	DEWEY PAWHUSKA WARNER PRYOR DEWEY PRYOR  DEWEY PRYOR  DEWEY PRYOR  ADAIR VINITA	ROGERS  BLACK TUCKER VANDAILY JARBOW HAILEY TROYER  3.35.59 3.37.76 3.46.09 3.50.37 3.54.87	24.76 4.58.07 5.05.03 5.11.66 5.18.25 5.30.56
6th  1600 Meter Run 1st 2nd 3rd 4th 5th 6th  4 X 400 Relay 1st 2nd 3rd 4th	DEWEY PAWHUSKA WARNER PRYOR DEWEY PRYOR  DEWEY PRYOR  DEWEY PRYOR PAWHUSKA ADAIR	ROGERS  BLACK TUCKER VANDAILY JARBOW HAILEY TROYER  3.35.59 3.37.76 3.46.09 3.50.37	24.76 4.58.07 5.05.03 5.11.66 5.18.25 5.30.56

High Jump			
1st	PAWHUSKA	MERRELL	6'6"
2nd	PRYOR	WILHITE	6'4"
3rd	PRYOR	CONSIDINE	6'4"
4th	PRYOR	GILSTRAP	6'2"
5th	ADAIR	MALCHOW	6'2"
6th	VINITA	BABCOCK	5'4"
Shot			
1st	MIAMI	ALLEN	44'3.5"
2nd	MIAMI	ENGELBRET	40'0"
3rd	MIAMI (B)	PETER	39'3"
4th	VINITA	HICKS	38'1"
5th	MOUNDS	BRAZILE	36'2"
6th	PRYOR	DALE	35'8"
Long Jump			
1st	DEWEY	BLACKMON	19'3"
2nd	PRYOR	JORDAN	18'7"
3rd	DEWEY	RIPPY	18'6"
4th	MOUNDS	NELSON	17'7.5"
5th	ADAIR	LAPPE	17'7.5"
6th	VINITA	WYNN	17'4.5"
Discus			
1st	MIAMI	ALLEN	121'4"
2nd	PRYOR	DALE	120'7"
3rd	ADAIR	SHAW	104'2"
4th	MIAMI	ENGELBRECHT	102'2"
5th	PRYOR	DALE	95'11.5"
6th	SALINA	SHAE	92'8.5"
Dala Vault			
Pole Vault	DAVAZILICIZA	DICHARDCON	441011
1st	PAWHUSKA	RICHARDSON	11'0"
2nd	VINITA	WALKER	8'6"
3rd	PAWHUSKA	HARPER	8'6"
4th	PAWHUSKA	HURD	6'0"
	<b>Team Standings</b>		
	1 DEWEY	151	
	2 PAWHUSKA	150	
	3 PRYOR	92	
	4 VINITA	69	
	5 WARNER	45	
	6 MIAMI	32	
	7 ADAIR	31	
	8 MOUNDS	18	
	9 CHELSEA	16	
	10 NOAH	10	
	11 MIAMI B	6	
	12 WYANDOTTE	2	
	13 KETCHUM	2	